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IT Semester B.Com.3 Degree Examination, May - 2019
KANNADA BASIC
(Regular / Repeater)
(W83, BOE-I)
Time : 3 Hours Max. Marks : 80
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IT Semester B.Com.3 Degree Examination, May - 2019

BASIC ENGLISH
(English Pearls)

Time : 3 Hours

I.  Answer the following questions in a word or a sentence :

1.

10.

Where did Milka’s poor performance take place in his early career ?
Who induces human beings to want things, they don’t want ?

On whose request was lunch arranged ?

Who conducted a great war without ever departing from wisdom ?
What was the topic of the lecture by Kalam at IIM Shillong ?

Who is the speaker in the poem “Philomela” ?

How long had the dog been hovering in the lovely mountain place ?
Who wrote the poem “I am not that woman” ?

What is the diameter of the bomb ?

What does body refer to in the poem ?

Max. Marks : 80

10x1=10

P.T.O.
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IL

IIL.

Iv.

VL

Explain with reference to the context on two of the following, choosing one from prose

and one from poetry. 2x5=10

1.  “I never eat anything for luncheon.”
2. Tam sorry you had to stand so long because of me.
3. Iam the one you married off. To get rid of a burden.

4. My country’s body

Floats down somewhere on the river.

Explain the lasting memories of the author about Kalam ? 1x10=10
OR
How does Russel differentiate knowledge and wisdom ?

Explain the relationship between man and the dog in the poem Fidelity. 1x10=10
OR
How does the poet bring out the stereotyping of women in patriarchal society ?

Write short notes on two of the following choosing one from prose and one from
poetry : 2x5=10
1.  Milka Singh’s hard efforts.

2 Unproductive and Wasteful Advertising.

3.  The Diameter of the Bomb.
4

Abdul Kalam’s last moments.

(A) Correct the following sentences : 10x1=10
Rama is a tallest boy in the class.

One of the boys are absent today.

Vimala is senior than Kamala.

Share these sweets among the two.

It is very beautiful. Is it ?

o ol S B

One should love his language.

AR TR ERRERMAC A




9.

10.

Less luggages, more comfort.
My brother always listen to music.
I have two son in-laws.

Except she, all passed.

(B) Frame Questions so as to get the underlined as answers :

1.
2,

3.

4,

5.

Diamond is measured in carats.

Raju was teasing Uma.

He came by bus.
Raju is bolder than Ravi.

Education provides power to life.

VIIL. Prepare a short speech on :

(a) Mother’s Day or Yoga Day.

(b)  Draft on advertisement copy for the sale of the following product :

Soap or shoes.
(c)  Prepare your brief C.V. for the post of a High school teacher.

OR

Prepare a resume for the post of a Head Clerk in college.

-000-
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5x1=5

1x5=5
1x5=5

1x5=5
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HINDI BASIC
(Regular / Repeater) (2016-17)
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11 Semester B.Com.2/B.Com.3 Degree Examination, May - 2019
ECONOMICS
BUSINESS ECONOMICS - II
(RCU Repeaters)

Time : 3 Hours ' Max. Marks : 80

Instructions : (1)  All sections are compulsory.
DRWIND : QY VLRNND o 0 TN
(2) All sub-sections should be solved continuously at one place.
QR BBNRINR ZFgmoN wOTE FW YVSDAD.
(3) Draw Diagrams wherever necessary.
EDLAS ) Sesoo WSNYE, WRAD. 2
SECTION - A/ Qyen — @
1. Answer any ten in fwo- three sentences each. 10x2=20
FINTRNTY Wewd =33, QTB—RT :s‘*ﬁnee@ eVBORD.
(a) How do you classify Markets on the basis of Area ?
33T FHOTT e BPTHBLIOND BeR INEeBOLD BRENO 7
(b) Define ‘Perfect Competition’.
HODREOF WRTIBLIONT, WY0RIA0.
(c) Give the meaning of ‘Dumping’.
ZOLOITTH B TRBO.
(d) What is product differentiation ?
RR, :35)(53 QOTVED ?
(e) Give the meaning of Penetration Price.
e3es WS OTE BR3B0.
() Whatis ‘Liquidity Trap” ?
‘TRI WS’ QOTTER ?
(g) Give the meaning of ‘Gross Interest’.
"ot m‘gofn’ e BRAED.

P.T.O.
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(h)  What is ‘Natural Monopoly’ ?
SRNET DTRY, DOTTe 2
(i)  Who has developed uncertainty theory of profit ?
VYT LT ATROIHI, BITROATHW 03D ?
(j))  Mention the motives of Demand for money.
Stk Beed edBod UTieBnTaD, $9R0.
(k)  What do you mean by functional distribution ?
FOOIVE TN TOLFE DOTTER ? |
()  Calculate average productivity from the following data :
(i) Total production = 8000 units

(i) Number of workers employed = 60
3YNT ©03-w03NY FTODHOT FUIRO YWIZHII, SF BPRO :
(i) e eI, = 8000 FFesned

(i) 2.t FWFTT Hodd, = 60

SECTION - B/ &gon - W
Answer any three of the following : 3x5=15
FNIPNYY temn SoeTE, VZORD :
2.  Explain the types of Price Discrimination.

XY TITTRE JTonTR, DF|OD.

3. Discuss the features of ‘Oligopoly Market'.
YORT TYFE,T TRUWTLION OFONYR, WeSFa0.

4.  [xplain the factors determining real wages.
s BRIODT, APFOMT LOBNYR, DB|ORD.
5.  Distinguish between product market and factor market.

TR BRI, I WHTTON FRHIHSD FHAT IFAI, S04,

VRO
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6.  Give the meaning of Break-Even pointand calculate BEP in sales value from the following

data :

(i) Variable cost per unit - T 40
(i) Selling price per unit - 70
(i) Total fixed cost - < 5000

A CoP-TH DOTHRT VTPV, ZRR0 DI VNS WOI—LOBNY FIHODHOT =PV
mIE CoR-3E, ST, WOTNBI, FowLARWD.
() wIonds HY B FeEy - I40
(i) ooowm BS TS PudE - T70
(i) e, 30 I W@ Fwsg - T 5000
SECTION - C/&%on — 3
Answer any two of the following : 2x15=30
FINTPYNYY Beww HTBF, 03O0 :

7.  Explain the equilibrium price and output under monopolistic competition market in
short run and long run.

:@abéms a"oéa’uae&s TRWDBFICD VRBY W) DesFRF VOO BS FI) YIIF Y
BRBLOTHI), DTORD.

8.  Discuss the price and output determination under discriminating monopoly.

CRlei Ve FIRTOBEIONY S BB WIZT AFEORDFONT, 2FA0.

9,  Explain the Liquidity Preference theory of interest.

T[N TLRATBROND w%ofo %m@oswa’ql NTOD.

10. Critically examine the marginal productivity theory of distribution.

0BT YOFF, TOLTOD ATYOTHE, SETIF TN TOSeIA0.

AR R P.T.O.
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SECTION -D/ Qon — &
Case let :
RE AT [/RT
[53) )
(a) Discuss the ‘Innovation theory of profit’.

‘@am&d CRYPT WO/, WFAD,

(b) Calculate accounting and economic profit from the following data :

(X in crores)

(i) Sales revenue - 90,000
(i) Production cost - 20,000
(iii) Depreciation charges -, 3,000
(iv) Advertisement cost - 5,000
(v) Other expenditure - 4,000
(vi) Interest on own capital - 7,000
(vii) Labour charges paid for himself - 9,000

FENT ©08—20o3INLoT Q%&CS UL W) BHFT g3 TOWLBAWD.

® deessnivd)

(i) SPTIRT BTWCD - 90,000
(i) evERTTD P[ - 20,000
(i) RBI e - 3,000
(iv) e&CTOS ﬁ&v&‘d - 5,000
(v) 93T Wygned - 4,000
(vi) Fo® womwmevs Reds W - 7,000
(vii) FO3 TRT FO - 9,000

-00o0-

AR TRV EE AT T

1x15=15
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II Semester B.Com.2/B.Com.3 Degree Examination, May - 2019
ACCOUNTING THEORY (Repeaters and Regular)

Time : 3 Hours ’ Max. Marks : 80

Instructions : (1) Answer the questions according to the internal choices.
TREINN : &oFOF SCLITT SRMED2N SVZOL0.
(2) Section-D Case Study question is compulsory.
eI He0ke SPODT T, FE0DTNG.
(3) COPYING OF ANY KIND IS STRICTLY PROHIBITED.
QRPe SOBE TFEV SRREPTX, JFCPIRNG.

SECTION - A / Q%R — &
1.  Answer any ten of the following : 10x2=20
33 IENIPYNYY WewBd scﬁ YUZORD :
(@) Define a Theory.
ATVOZT W03, AERD.
(@) 5 D
(b) Write any four features of accounting theory.
Seoon AWROBH CIPWTOTTRL ToLY, VFLRNFI 2 BON0.
s [®) - ) £l
(c) Name the roots of accounting theory.
SZToR AWOIH BRONTI, BHOAD.
(d) What do you mean by accounting environment ?
Sgo0x WORT Q0TTEH 7
() What is pragmatic approach ?

Seds [N Q0TTER 9

P.T.0.
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()

(g)

(h)

(i)

(k)

M

What do you mean by accounting policies ?

6@%2&' Brededngomded ?

Write any two features of postulates.

eiﬁsa:jgcs TROLERT ONTNE 03P TOEIR NTB OFEITTI, 23B00.
What is entity concept ?

@agcs woﬁgé QNOTTeR ?

What is the principle of full disclosure ?

TROF 20&TVONNRYAT é%ﬁodde&a 2

Name the parties benefited by accounting standards.

63‘533%; BRWEINPOT ToSReRT TrAINT F3TVTTI, BDROAD.
Write any two features of depreciation.

TRTLOH OIPFTTETR DTB VTEANTI, 2080%00.

Expand (i) GAAP and (i) TIASB.

QROAD (i) GAAPZR (i) IASB

SECTION - B/ Qe — @

Answer any three of the following :
3 FFNTPNYY CIRFTETR Fedy YLZOAD0.

2.  Distinguish between Positive theory and Normative theory.
B33 B T0e83 6§miﬁ¢ 553351»’ 2BoN0.

3.  Explain the decision-model approach.

QERFONRT WIOTWOOR a’»’aﬁf—‘ﬁ?\b‘i WDWOAD.

4. Distinguish between Accounting principles and Accounting policies.
6§mi 3@1%‘0 G BRETBNRIYOD T 25B0N0.

5. Write a note on deductive approach.

IRFRNT VFT PO 2353 WTN0.

R A

3x5=15
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6. Find out the owner’s equity under the ‘Residual Equity Theory” from the below given
information :
Equity Share capital < 10,00,000
Preference Shares ¥ 4,00,000

Reserve Funds T 4,00,000
Sundry Creditors I 2,00,000
Fixed Assets < 14,00,000
Current Assets % 6,00,000

s FPNT BRLHSONOT ‘e B98¢ %cr%oéz:i’ 0RO WEIZT ToOW, TOBWLROND :
AOTIT, 3eD WOBZOT ¥ 10,00,000

woB , BT 3 4,00,000
B0} AN T 4,00,000
TR T 2,00,000
RO 3 14,00,000
OO T 6,00,000

SECTION - C/ Q%R — &
Answer any two of the following : 2x15=30
3 FINIPNYY IRFTRE3R ATREE, YIOAD :
7.  Define Accounting Theory. Explain the features and objectives of accounting theory.
Sggor ATROTII, W,0YCWAD. S3zox ATROIT VFNII, F: VT3 LB,
QWORD.

8.  Explain the various traditional approaches to accounting theory.

ei’ij‘mﬁ ATVOBT FOOWWOCNT TPNERY, WWORD.
> e = 2

9.  Define Accounting Principles. Explain the need for accounting principles.
6@332);& SIriva, we,s09,000. tfﬁﬁm‘i BYY LHZTINTR, WWOAD.

(A P.T.O.
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10.

11;

With the help of prescribed format, prepare the Stores Ledger under FIFO method :

RECEIPTS
2.4.19 - 2000 units @ X 30 each
5.4.19 - 3000 units @ ¥ 34 each
12.4.19 - 2400 units @ X 32 each
19.4.19 - 1800 units @ X 40 each
24.4.19 - 4000 units @ ¥ 26 each

ISSUES
7.4.19 - 1600 units
10.4.19 - 400 units
18.4.19 - 3000 units
22.4.19 - 600 units
27.4.19 - 1200 units

Also show the total value of stock on 30.4.2019.

ANDI RSdmK")o:babel B[R, FIFowz:ééocboé irgm‘s—‘ méoﬁoa’q{ 30330020 :

2.4.19 - T 30 508 2000 030EFRLD
5419 - ¥ 34 803 3000 0I0QLFNE
12.4.19 - T 32 B03 2400 CS30EFRLD
19.4.19 - T 40 So3 1800 030N
24.4.19 - T 26 803 4000 03NEFNed

VYT, OT0T 30.4.2019 TOWH AT 2t FONBE IPOTI, SER0.

dea
7.419 - 1600 GI0REFTI
10.4.19 - 400 CIVREFTITH
18.4.19 - 3000 OIVREFTL
22.4.19 - 600 O3VREFRH
27.4.19 - 1200 030REFRH

SECTION - D / &%n — &

Case-Study Compulsory question.
VIV -VFHONT I@OD T,

(a) State the appropriate approach for the following statements.
33 FINT TePINYY VYTRAT RRT IPRY), B0,

(i)  Accounting techniques are imposed by regulating bodies.

S3T0RT B0t oDOFEe FOFNVOT wIENIOBII.

(i) Real world practices are the basis for theory

-

o8 WSS B3N ATYOBE, STOTNEW.
(iii) Emphasis on what ought to be.
NVTLeB0LNTT e 2.3 BT,

(iv) Fairness, Justice and Faith are the basis.

ebccspé, aaéoi) DB, JoWINee ST,

ARV RN M

7+8=15
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(v) Mixture of good thoughts of different approaches.
ANG TBHRYYOD YU WLPTNG NIJfo.
(vi) Accounting information should have a predictable factors.
S3oAT BP0 NRHFWTOTE YOBNII), TLRODTLER.
(vii) National Economic Goodness should be considered.
UO%@O:SD SHFT LVZNFONT), VORESROTYT.
(b) State the postulate or concept or principles of accounting theory for the following
statements :

83 YN BePINYY LYTRIT TROLNRT J0NT VT TOBORN VTP eﬁsﬁara:;_’j

RTROIT FINTE, ARWAD

(i) Paises are rounded off to the nearest rupee.
3395:\»“71%‘&\%3“1 HNCTT TRTONTT BRODAIT)TR.

(i) Provision is made for anticipated losses.

DOCFAT TFATR DY RO,

(iii) Provision for depreciation is made for fixed assets.
?&caaﬂe?ﬁ ARBLOD Y THCWORT.

(iv) Assets total amount is always equal to total of capital plus-liabilities.
SANY ) BpZH SwRnow WORTY T, BRHBMOOINY HRIF,
ARDTINHBT.

(v) Accounting year begins on 1 April and ends on 31%' March.

SEHIW FRFRY) 13¢ D& Tomd FRTOFN, 31e o0e3F 3, WOFNRRWI.

(vi) A machinery worth ¥ 5 lakh is purchased and recorded in books with
T 4,50,000 as the subsidy of ¥ 50,000/~ was received from government.
35 033 obhoBRHITLY DOOITINTY, F5orohom T 50,000 FFHOH HI
TROTOOB I 4,50,000 =3y SgTe, WATTY SROAT.

(vii) Amount of ¥ 50 lakh invested in business by the proprietor is treated as

liability of business.
RO eTI wéwmdmg BR&ET TH0 ugnem& aswmdci BRBMOOINTOTR
@%ﬁmﬁd.

(viii) Contingent liabilities are shown on liability side of a Balance sheet.
Rogmeod BRESMORTD, ©Ee: BIodh BRFEMOTD Wi 3e0FRNG.

-00o0-
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II Semester B.Com. 3 Degree Examination, May - 2019
FINANCIAL ACCOUNTING - II (Regular & Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : (1) Attempt all sections according to internal choice.
(2) Use of simple and non-programmable calculators are allowed.
(3) Section - D case study is compulsory.
Bewsnd ¢ (1) ©030% $od) TTT SR WPINNTI, YZOAD.
(2) =Pwe D ODOBTIIY, YWTESRENAD.
(3) PR — @ TFTL YHONT IEODTNG.

SECTION - A /i — ©
1. Answer any ten of the following. 10x2=20
Bewn ©TF, Y300,
(a) What is Proforma Invoice ?
2O Tty HOTTERD ?
(b) What are non-recurring expenses ?
TTTIRSE IBYT WBNTOR)HR) 7
(¢) What is hire purchase system ?
PR DD TIPS 0T ?
(d) Why hire purchase price is more than cash price ?
wGR DD BSodD INWD SN0 DT FLPNTOIT ?
(e) What is dependent branch ?
B0V T8 O[3 ?
(f)  What do you mean by branch ?
T8 HOTTER ?
(g) Write two objectives of Human Resource Accounting.
BRFR BOTIRY SFWIBT TE YOTIEBNTI), wTWD.
(h) What is historical cost approach ?
DETOXT ;32% WRBO IFP Q0TI ?
(i) Who is a designated partner ?
TTTOT TOENTRT DOTWTE O3TPT ?
(j) Write two objectives of Limited Liability Partnership.
2ENT BRFBMOOT TILMROT BOFOD STB YT eInNTE), LTWO.
(k) What is Normal Loss ?
AW, IF, POWOE ?
(I)  What is Loading ?
ﬁas%wa 2363 DowBeD 9

P.T.©:
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SECTION -B/Qen —
Answer any three of the following. 3x5=15
FINT e TopTE LVI0OAL.

2. Explain the need of Human Resource Accounting.
ENSRISEN FOTIRY JFTHT Qﬂaééﬁé’oibdba WTWORD.

3. From the following information, calculate the closing balance of contribution of Pooja
and Pratibha.

Opening balance of contribution 4
Pooja 4,00,000
Pratibha 3,00,000
Drawings :

Pooja 20,000
Pratibha 30,000
Interest on capital 5%
Total profit after tax 1,50,000
Profit sharing ratio 25
81 FYNT SR&WSN0T Tezm 0B T3 TPELTTT JOFTIODT BOT, FOEBROWD.
TRUTRUT ET0HE B, 3
TR 4,00,000
EICIAT 3,00,000
BOY, Teo BRTW)

WL 20,000
CIIAD) 30,000
WOBeYd Med WG IFFE 5%
FOTOR AT J03T 283, @03 1,50,000
WOVTOTT o TS 251

4.  Find out the value of closing stock from the following.
(a) Goods sent on consignment : 2,000 kg at ¥ 20 per kg
(b) Normal loss : 5% loss in weight while in transit
(c) Non-recurring expenses paid by consignor : ¥ 1,800
(d) Quantity sold : 1,600 kgs
85 FYNT BIP&S0WOT ©08R) XTI DT BPOTII, FoRDRBOWD.
(a) ATBNRIDY, TemoRA@), ¢ 2,0003.23. TG B.23.0D 38 T 20

(b) T S& : FOB Fnorddody Jesmo 5 0D, SR IF

) A0 Swosmed dek WSoARSFINYE F : T 1,800
(d) SRR SRBERT TR : 1,600 3.23.

AT O

—
e)
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5.  Gundappa purchased a machine of the cash price of ¥ 28,000 on 1/1/ 2014 on hire

purchase system. He paid on 1/1/2014, ¥ 7,500 on signing of the contract and the
balance amount in three equal annual instalment of ¥ 7,500 each and interest is charged
by the vendor at 5% p.a. on the unpaid balance.

Calculate interest included in each instalment.

Q0% 1/1/2014 BT MOOBIZ 0HOSRLTITED 20T, IR B ¥ 28,0008 wo@n
DD TFBoHY DODITS. IO TF, B T BTVOF 1/1/2014 BowH T 7,500
WS BRAWE W) w0 BRZIZ, T 7,500 71¢ D FRoS wonFS BoBINEY
BRBEERH D AN DO BRTAIOTIN BREY, Jes@® 50X 2BODT), de@LIew.
%8 F0STQTT FODT), FOWEROWD.

6.  Kiran traders has a branch at Chikodi. From the following particulars, prepare branch
account in the books of Head Office.

T

Stock on 1-1-2018 40,000
Petty cash on 1-1-2018 400
Goods sent to branch 1,00,000
Cash sent to branch for

Salary 12,800

Rent 4,000

Petty cash 3,600 20,400
Goods returned by branch 4,000
Cash received from branch 1,32,000
Stock on 31-12-2018 48,000
Petty cash on 31-12-2018 800

500 We@BOTOR 2BREBODY ToFoD, BRODTITVT. F¢N TRTAT Bivk&oN0T
TS Feiedod TRITY 050D IZOH), B03POXD.

<

RO mk?fb : 1-1-2018 o 40,000
BQV SN : 1-1-2018 Towbd 400
BN FRLAT ITD 1,00,000
BN TRLAT INTD BED

k‘ouqﬁm-éﬁ 12,800

Z&NmN 4,000

z&gd snomn 3,600 20,400
ToBONOT SDNLOT ITH 4,000
o300 RBOAT Ted 1,32,000
DO m@a’n : 31-12-2018 Sowd 48,000
WS InDH : 31-12-2018 Somd 800

[AERARARR TR P.T..
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SECTION-C/ %R - 3
Answer any two of the following. 2x15=30
Beson QOB YLIOADO.

7.  Define Human Resource Accounting. Explain it’s objectives and importance.

FASPIS :sowme@ ?3368\)6?565 e?)?g&% R, ©TT ero%eeﬁrieéc‘ql BNV mw:gmeda% RNWORD.

8.  Miss. Rachana purchased a vehicle from Renuka Motors, Chikodi on 1-4-2015 on hire
purchase system and total payment was agreed upon at I 60,000 to be made as under.

S
On signing of the agreement on 9,600
1-4-2015
On 31-3-2016 16,200
On 31-3-2017 21,000
On 31-3-2018 13,200

Interest was charged at 10% p.a. by the vendor on the unpaid balance. The depreciation
on vehicle was written off at 20% p.a. on diminishing balance method.

Ascertain the cash price and prepare vehicle account and Renuka Motors account
in the books of Miss. Rachana.

DT007 1-4-2015 BT BRWO TWET0 LdN" VOO aqupé 203 2O mwsw:&l
Secaddo BRet0T, WIR/RODTOOT NORITRT I wITOTHE TFT 28 I 60,000
mwm& 83 BYNTO3 TOBERLICR.

3
1-4-2015 o 8FTOW Héo WoRBTON 9,600
31-3-2016 TOTD 16,200
31-3-2017 Sow 21,000
31-3-2018 o 13,200

2RRN 0D [TLNMRTD 10% To8 BE IRE WG BTOATTT. WTID ¢S
T@ IRF 20% ToZ B[O DY, THI0H0I AVILODTY, SRCHLRNT.

OTIT  BNTR ::3@30:33@=l BB BONO aba’_up BP0 TWTo a‘o’iﬁwg OB
asa'e’ododai ) DL a&famo:dwd ssaiojaaba 3037000,

AR ERN AN AR
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9. Supriya Traders, Belagavi has a branch at Ankali. Goods are mvou:ed to branch at
cost plus 50% there on.

From the following information given below prepare the necessary ledger accounts
under “Stock and Debtor System” to show profit or loss earn by the branch.

X

Stock on 1/4/2018 (at Invoice price) 9,300
Debtors on 1/4/2018 8,800
Goods sent to branch at cost price 34,000
Sales at branch : Cash sales 25,000

Credit sales 31,000
Cash collected from Debtors 30,400
Goods returned by branch 1,500
Goods returned by Debtors 1,200
Surplus in stock 1,650
Discount allowed to Debtors 200
Expenses at branch 5,400

A28 EERTY, BIHR R ©oFIORY IR, TBod), BROAWT. ROBRD),
BROBSoH WDeB Je. 50% oD, oY BRBRA FODTLONY TIROZGONT.  Zwa3odw,
RETOAT DY TR, TS ﬁeﬁeb‘? FRLROBT m?,o PP VLAY, TEOT F23ed0ID
é.raz:éasd

39N TRTAW [&SN0T, oBOD w0z VTP TOAODT, FOBLROHLY,
“20B DR msémd” TG B000E VTFTOT STHIRYT, S03PORD.

¢

1/4/20183 =T% BHe, (3odwed S BFws) 9,300
1/4/2018 B Tleedood 8,800
B 3PAT ROBNH (RwoBS BEed) 34,000
030D N3, : INW B|WRTVES 25,000

WTO VPOV 31,000
Bee3o800T JRRGRT e:'irag 30,400
T0B0N0T TV WOB ATH 1,500
T3e£3T00000 #Wo8 Wowm ATR 1,200
o8 By 1,650
TIeESTIRTON WENERL, AoeR 200
o230 Fegned 5,400

AVARRERRE AR P.T.0.
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10. The following is the trial balance as at 31-3-2018 of M/S. Mallikarjun Co. a Limited
Liability Partnership.

SI. No. Particulars Dr. Cr.
3 3
ks Capital Accounts
Ganesh - 30,000
Vinayak - 20,000
2 Drawings
Ganesh 10,000 -
Vinayak 5,000 -
3 Purchase and sales 1,00,000 2,00,000
4 Opening stock 50,000 -
5 Wages 10,000 -
6. Salaries 10,000 -
7 Machinery 30,000 -
8 Furniture 20,000 -
9 Printing and stationary 5,000 -
10. Debtor and creditors 50,000 60,000
19 Cash in hand 20,000 -
3,10,000 3,10,000
Adjustments :
1. Machinery to be depreciated at 10% and furniture at 5%
2.  Provision for doubtful debts at 5% on debtors
3.  Salary outstanding ¥ 5,000
4. Interest on capital is to be allowed at 5% pa
5.  Profit and losses are shared equally
6.  Closing stock valued at ¥ 30,000
7.  Provide 30% tax on profit

Prepare the statement of Income and Expenditure and the statement of Assets
and Liabilities as at 31-3-2018 of the above Limited Liability Partnership.

AR RN A0
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DOFTLFD VODINT BRBOOF TLOTOR xoz’éocb aaﬁiwégofm 31-3-2018 Boy B3

BYNT03 1.
ek v WTTMEO DDE EEAND)
54 4
1 WOBOY
neeed - 30,000
RJOODT - 20,000
2 RO, Teo TRW BRT
nee3 10,000 -
RIONT 5,000 -
3 00eH m@i_)c DOTES 1,00,000 2,00,000
4. 30T ITHD (BREDRY 50,000 -
5 LYl 10,000 -
6. DowY 10,000 -
% oDhoZR 30,000 2
8. QEeBRETITTLOMED 20,000 -
9. BT 0B AT 5,000 -
10. AIOMITD NP AITTITT 50,000 60,000
1151 T[NTH 20,000 -
3,10,000 3,10,000
TBROTLIINGD :

OROFHY ced Segmo 1003, ) wedReTEoNY s Segmo 50w, B9 w0
ROBO3PIT AOOTIN FOLOMOTT e Jedmwo 5 oD, Ir0@EBes

Wt YWLOWT Fowe med T 5,000

WOBTOYT S T3 W™ 5% LB, RT3

ooy O\EC) mao:bm ABTIPDTON T023O

©OoSR OIT ITH T 30,000

ORPT Ded Be. 3003 Borimon 30020

DT00T 31-3-2018 ot QODENE a&m%mb% TOENOF ~o£o:b S0D aaav
das 308 TONR S2 waeo S RIADLe wwodom 20330020.

AT e BT,
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SECTION - D /%%en — &
Case study (compulsory) Zgoe @b (Imgod X3 1x5=15
11. Chidanand of Chikodi consigned 100 cycles costing ¥ 1,000 each to Nitya of Nipani.

He paid ¥ 5,000 for freight and insurance. During the transit 5 cycles were totally
damaged.

The consignee took delivery of the rest of the cycles and paid ¥ 3,600 for unloading
and carriage charges. Subsequently he paid < 5,000 godown rent and selling expenses
of ¥ 12,000.

He sold 90 cycles at ¥ 1,800 each and entitle to the commission at 10% on gross
sales. He also sent a bank draft in settlement of account.

Prepare consignment account in the books of Chidanand; assuming that
Case 1: Under Cost price method
Case 2: Under Invoice price method
(Loading is 25% on cost price)
WEREAOD BTITOW, VFTEIOD Dz 100 X3S NED, Boeord BE IO T 1,000
So3 CwmoRATRS. wedon® X 5,000 R wHE) DVONY, FOweoD TRAEWYS.
5 RBOTIY TMOESEoNY NOTREE ToFTNS.

BEIQOID NWOT FFS NI, TREDEROW), T 3,600 FTRAYI), TN ALARTTN
BBy monoedd ﬁzg% TR a&‘a@a%a’. 08T R 5,000 RARETONT AT FB)
T 12,0000, 00083 [e3g, DS BRBWYS.

BEAQOI IO RFO IR, TE FFOR T1,800T008 BpTots BB & b)) WRTLT
e 10% T, TRy TBODLD YTHETONOTVS. 308 BRI, WY0TF FF, WIVT
X0B Umoswmosdn 50%ABRLTRS.

33 391 BewHo3 YNBRPR, THONWCS WRFBY N Twead 5e30H), SoITOXD.
®Boee 1: Rwpeodd JIgs Iged

W00 2:  FORHS st %00 (Invoice price)

(B30 B3S Be. 25% T, OB ee)

-00o0-
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IT Semester B.Com.3 Degree Examination, May - 2019
MARKETING MANAGEMENT
(RCU Regular and Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : (1) Answer all the questions according to internal choices.
(2) Q. No. - 11 Compulsory. (case study)

npeISes ¢ (1) ©030F soiedTs O I v3oA0.
2) &F 11 swgan (Jooko &g od).
SECTION - A/yen — @
1.  Answer any ten of the following : 10x2=20
Bewn @R FROR IO :

(a) What is Market Segmentation ?
BT, PHT 0TI ?
(b) What is Marketing ?
WR0W TFOD 0TI ?
(¢) What are Manufactured goods ?
TN FRATOTTES ?
(d) State any two features of Shopping goods.
08, WRNY 0B MHEROTRNGR), BewO.
(e) What is new product ?
BRI [R ROWBEN 7
(f) What is a Price ?
BRI XS 20TTeD ?
(g) What is Advertisement ?
BRI TFTR0TED ?

P.T.O.
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(h) What is Product Life Cycle ?
BRI BAZTOO WIWOWTEI ?
(i) State any two characteristics of agricultural goods.
u§m333 NI CITOR)TIORTR VR rbswgsarieéab& L0,
() What is cost based pricing ?
ﬁag‘d &50038 8BS 0T 7
(k) What is channel of distribution ?
TR, DIV WRNAFESTIED ?
() What is Consumers buying behaviour ?
MO®TT DOD WIFN Q0TI 7

SECTION - B/ Q%R — @
Answer any three of the following : 3x5=15
Benn et IFROR GWIDAD :

2.  Explain any five characteristics of manufactured goods.

NMCplAL RRNE 03T TIRTWOR DT mmegmﬂeéaba DWOXD.

3.  Discuss any five defects of Agriculture Marketing in India.
g W3, WITFLION OIPR)TOTTR R BReT TBRERAT), WBFAD.

4. Ixplain stages of Product Life Cycle.
VRIS BeQBTO WIT DAF BOINYI, DWOAL.

5. Explain economic factors which determine consumers buying behaviour.

' TO®TT DD WSFFODIY, AFFORT BHFF LOBNII, VWOAD.

6. Explain any five internal factors determining Pricing of Product.

236 DTFORT 03PR)TWOTTR NI B0I0T WOBNTI), DWOAD.

A
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SECTION - C/Qgon — 3
Answer any two of the following : 2x15=30
Bews TR TFAVR LIOAD :

7.  Explain the importance of Marketing.
o0 TFOD WTBIWI, WWORD.

8.  Discuss in brief characteristics of agriculture goods.
B YOBI T DT TODOTNTI), WIFAD.
9.  Discuss in detail social factors which determine consumers buying behaviour.

MR®IT DO FIFFONT, VPFORT FoTwBT LOINYY, DFRTIoN 233FAD.

10. Discuss in detail stages of new product planning and development.

TRA TRODT O3RET TB) @ap’do&gpodag YT DDP TOINY, WWFAO.

SECTION - D /n - &
Case Study (Compulsory)
TFOEe VP ODS (swyod Jy)
11. (a) Customer is King in the Market. Being customer relationship officer suggest steps
to retain the customers in the business. 1x15=15
BRWFEODY MOFBIIS, TORBORD FBOWTVT 7 Y 2.2), MRFHT FOTTOF HTVOTN
MOBICR, SLARDWNBRRT NP JoTNIW, (ROTNFT),) FPHWAD.
(b) Sales of Godrej company is declining due to competition. As a Sales Manager
suggest steps to improve the sales.

R F0TIOL VPIHOT VTWOEF FGFOWOT IRRPMZ IBOT.  Towy W)
BRTE BHTOOOIPN VIRTOL BB DNF FIONTI), Z3A0.

(c) Prepare a meaningful and effective advertisement copy for “AIR COOLER".
“R0° BROTT” YTT0 BRT TONR VPFIRNRF WU TS J03300OAD.

-00o0-
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II Semester B.Com.2/B.Com.3 Degree Examination, May - 2019

COMPUTER APPLICATION IN BUSINESS - I/
COMPUTER APPLICATION IN BUSINESS
(RCU Repeater/RCU Regular)

Time : 3 Hours Maximum Marks : 80

Instructions : (1)  All sections are compulsory subject to internal choice.
(2) Section - D is compulsory.

SECTION - A
Answer any ten questions, each carries 2 marks. 2x10=20
1. List any two hardwares of computer.

2. What is Volatile memory ? Give example.

3.  Give the meaning of Information Service.

4.  Distinguish between Online processing and Offline processing.
5. Define Booting.

6.  What is ‘Cryptography’ ?

7. How to save a document in MS-word ?

8. Name the shortcut keys for Bold and Underline in MS -word.
9.  Write the use of Autocorrect option in MS-word.

10.  Name any 4 items of change-case option in MS-word.

P.T.O.
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11. Name the function key used for slide show in MS-powerpoint.

12. How to set Reherse time to a slide in MS-powerpoint ?

SECTION - B

Answer any three questions, each carries 5 marks.

13.  What is Secondary memory ? Explain any 2 secondary memories of computer.

14. Define Operating System. [ist its functions.
15. Write the steps to create, Rename and delete folder on desktop.
16. Explain print dialogue box in MS-word with its neat diagram.

17. Describe the different views of MS-powerpoint.

SECTION - C

Answer any two of the following questions, each carries 15 marks.

18. [xplain in detail the Input and Output devices of computer.
19. Compare LAN, MAN and WAN.
20. Ixplain the component of MS-word window with its neat diagram.

21. Write short notes on :
(a) Group communicalion
(b) Spelling and Grammer in MS-word
(c) Features of MS-powerpoint

AT 0O 50

3x5=15

2x15=30
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SECTION - D
Case Study Compulsory : 1x15=15
22. Write the steps to perform following in MS-word.
(a) Set the page selting : Paper size A4, Margin left 1.25, Right 0.75, Top and
'+ Bottom 1.

(b) Insert a table with 5 columns and 4 rows.
(c) Insert Header as ‘RCU Belagavi’ and Footer with page No.
(d) Insert Water Mark as ‘Incredible India’.
(e) Insert System date and time.

-00o0-
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